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INSTRUCTIONS TO CANDIDATES

This question paper has 50 questions. Each question carries one mark. There are four choices
for answer (A, B, C, D) to each question. Choose the correct answer (one only) for each
question and write the answer in the space provided against each question.

Candidate must write Name, Roll No. and sign on each page of this booklet.

The candidate should check that the booklet does not have any unprinted or torn or missing
pages or questions etc. If so, get it replaced with another question paper, before question paper
starts.

One (1) mark will be awarded for each correct answer. There will be negative marking and (-
Y4) mark will be awarded for each incorrect answer.

The unanswered questions will not attract negative marking

Return the Question Paper cum Answer Sheet to the invigilator after the examination is over.
Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.
There should not be any cutting or overwriting in the Answer.

Use of Unfair Means in Examination will lead to cancellation of candidature.
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G FHTE B & ST 9 9 T8 IR YfdesT wdderes ol @1l |
HTaTSd, Solazie HIE 3R 31T SR es Tored uden § afsyd £,
I H Bl BT AT AEWrSfET TE T =R,

GdterT # Srfad WTeET &1 UAIT B W IFHIGART T B &1 S|

S.NO. | Question/ Tt

1 Find the part of the given sentence that has an error in it:

My house is more spacious than my sister.
A. is more
B. spacious than
C. My house
D. my sister

2 Are you looking forward Nikhil again?
A. seeing

B. tosee

C. to be seeing

D. to seeing

3 Spot the erroneous parts, if any, in the following sentence:

A. a
B. b
C. c
D. No error

David is superior and (a)/ richer than most (b)/ of his friends in his village. (c)

4 Provide synonym for the word- Temerity

audacity
fearfulness
shyness
stupidity

oSnowy»

5 Spot the error for underlined sentence:

India's outlook on the word is composing of these various elements.
is composed of

is composed by

is composed with

has been composing at

oWy
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Rearrange these parts which are labelled P,Q.R and S to produce the correct
sentence. Choose the proper sequence from the given options:
He felt justified in bypassing Congress altogether on a variety of moves.(P)/
At times he was fighting the entire Congress(Q)/
Bush felt he had a mission to restore power to the presidency(R)/ Bush was
not fighting just the democrats(S) Representative
democracy is a messy business, and a CEO of the White House does not like a
legislature of second guessers and time wasters.(T)

A. QSRPT

B. STQPR

C. QTSPR

D. QRTSP

The artist's paintings were displayed in an exquisite gallery, showcasing their
talent.

latent

exorbitant

palpable

dormant

Saowp>

Provide one word for the following sentence:
to pilfer or steal (something, especially an item of small value) in a casual
way.

A. to loot

B. to filch

C. to rip off
D. to plunder

Change the voice of the following sentence:
Trumpets are being blown by the soldiers to announce the victory.

A. The soldiers were blowing the trumpets to announce the victory.
B. The soldiers blow the trumpets to announce the victory.

C. The soldiers are blowing the trumpets to announce the victory.
D. The soldiers blew the trumpets to announce the victory.

10

Find correct spelling :

A. Archiology
B. Archaeology
C. Archeaology
D. Archealogy
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11

Convert direct speech to indirect speech for following sentence:

She said, "I can play the guitar pretty well."

A. She said that she can play the guitar pretty well.
B. She said that she would play the guitar pretty well
C. She said that she could play the guitar pretty well.
D. She said that she plays the guitar pretty well.

12

What will come in place of ? in the following series?
FrfefEd Saar | 2 & ®IE W T Aam?

AZB, CYD, EXF, ?,IVJ, KUL
A. GUF

B. GWG

C. GWH

D. HWH

13

Which number will replace the question mark (?) in the following number
series?

fmfefed g e § o 9 §@n ued &g (2) &1 = @i
2,12, 30, 56, 90, 132, ?

A. 180
B. 184
C. 186
D. 182

14

Select the option which is different from the others.
3G ST BT T P A E G T &

A.UPK
B. MGA
C. RMH
D. SNI
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15

Karthik's college is 8 km north of his home, while his office is 15 km west of
his home. Find the minimum distance between his college and office.

PIfceh BT Biciel IG6 T Y 8 T I F 2, T ITHT FRTAT ITF W 15
fop =Y ufeer o €1 6P pictet 3R Braferd & dier FHa gl 371d FIfQ)

A. 17 km (f&H1)
B. 19 km (f& H1)
C.21 km (f& AN
D. 23 km (f& A

16

Manoj and Sachin stand seventh and eleventh from the top respectively in a
class of 31 students. What will be their respective ranks from the bottom in the
class?

A. 20 and 24

B. 24 and 20

C. 25 and 21

D. 26 and 22

31 ST T BT H HAIST 3R G AT FW Y Grad 3R IHed ©IH W &1 BT
9 | 3T Gefed I = B

A. 203TR 24

B. 24 3R 20

C. 253R 21

D. 26 3R 22

17

If A @ B means A is the daughter of B, A#B means A is the sister of B and if
A*B means A is the father of B, then What does W$@X*Y#Z mean, if W has
one brother and one sister?

A. Z is the grandson of X

B. Z is the granddaughter of X
C. Z is brother of X

D. Z is the son of X

IRA @ BH FF 2 fh: A, BRI T8, A#B FT31ef € fob: A, B Br 987 © 3w afe
A*B &1 3¢ € f: A, B &1 UaT €, a1 WS$@X*Y#Z &1 &7 37ef €, Ife W T U
TS 3R T 97 87

A. Z, X B UETR

B. Z, X B Ui &

C. ZX®IHER

D. ZX®H A2
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18

If in a certain code language, INTELLIGENCE is written as
ETNIGILLECNE, then how will MATHEMATICAL be written in that code
language?

e ues fAfsra &g vt § INTELLIGENCE &1 ETNIGILLECNE for@r T 2,
T 39 B8 YT # MATHEMATICAL 58 ferar sram?

(A) AMHTMETACILLA
(B) TAMMEHITALAC
(C) HTAMTAMELACI
(D) LACITAMEHTAM

19

Select the option which has the same relationship with the third number as the
second number has with the first number.

39 fapeq &1 a9 ¢ gt el ST & |1 98! §ed § ST gal HEAT B gga
qET F AT 7

324:36:: 633 :?
A. 88
B. 58
C.48
D. 96

20

Aryaman has a non-digital simple watch with minute and hour hands. Given
that the clock is working properly for the given period, how many times will
the two hands be at each other in a continuous period of twenty-four hours?

ST & Uty foe 7R = & 2relf arell Yo R-fEfed e 921 21 ge d@d gu o
gt e s7afy & AT 3 T FW W @ 7, T =9 B a7 S gy
foeT IR Yeb-gE W EM?

A .22
B. 24
C. 12
D. 48
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21

I
How many times does the 29th day of a month occur in 400 consecutive

years?

A. 97 times

B. 4400 times

C. 4497 times
D. None of these

U HelH &l 29971 &7 AR 400 a9t § a1 a1 31T 22
A.97 4R

B. 4400 9

C. 4497 91

D. 39 ¥ ®IE T8l

c

22

In the following question some statements are given followed by some
conclusions. You have to consider the given statements to be true even if they
seem to be at variance from commonly known facts, read all the conclusions

given statements.
Statement:

I. Some rings are gold.
I1. All gold is silver.
Conclusion:

I. Some silvers are rings.
II. No ring is silver.

| A. Only I follows

B. Only II follows
C. both follow
D. Either I or II follows

Ffafed e & oo Sl & a1 F feed e 7 ) e fou e agET @y
eI /AT BT, Med &1 J TG B9 § 31 928t § =7 wdid &, it fsest o1 oe
IR R 77 = 6 Ru me 99mi § § #5191 e arfse w9 @ Bu 7o sgm &
STTEROT AT 2 |
Y
1. T SfEaT G A &
II. T gAT IR )
T

. FB e RE

II. I R Fiel 78 &l

A. B | SFTEROT BT €

B. A 11 30T T &

C. 2T FTEOT HA &

D. JTAT 13T [ 3TER0T HaT &

and then decide which of the given conclusions logically follows from the |
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23

If the number 481A673 is exactly divisible by 9, then what is the smallest 1 B
whole number in place of A?

i §E=AT 481A673 foepat 9 € o 8, A7 A F = R Ta BT qut g@an &=
27
5

oow»

1
. ¥
. 6

16

24

The Highest common factor of two numbers is 17 and their product is 4624, | A
what is the sum of their reciprocals?

I HEATAT PT ISAH HHIR BRP 17 © 3R 3B TG 4624 €, 376 TRERE
T AT T 87

A.1/16

B. 1/289

C. 117
D. 1/272

25

What is the minimum number which when subtracted from 32146 becomes a | C
perfect square.

AT AT T & oI 32146 T T2 W UH qof ot o7 S1ar 27
A. 205
B. 405
C. 105
D. 305

26

If the value of 5/6 of a number is 655, then find 9/20 of the same number. D

I fosdt T&AT BT 5/6 BT HM 655 €, AT ST AT BT 9/20 Wi |

A. 3383
B. 3283
C.3483
D. 3537

27

A number is first reduced 20 % and then the reduced number is 20% | C
increased. The number thus obtained is 20 less than the initial number, then
find the initial number?

Teh G&AT Bl U 20 Ufa9Td &H fRaT SraT & 31 TR =218 7€ |am &l 20 ufasra
T AT €1 T UBR T AT R T&AT § 20 FH 2, a1 TRbe S&T 714
BIfeTT?
A. 200
B. 400

C. 500

D. 600 j
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28 The selling price of an article is 500 rupees more than the cost price. The cost
incurred in selling the article is 200 rupees. If the profit percentage is 30%,
find the cost price.

T 5] T SehT Jod S1Td 7o § 500 $9 3 21T 2| 37 95 Bl I | 200
BYY BT T ATAT & | IS A UTAerd 30 Ufderd 8, @1 «I17Td o FATd BIC|

A. 600 rupees ("6‘1'3[)

B. 1000 rupees lt2°0)

C. 1200 rupees (¥9%)

D. 1400 rupees (‘5@)

29 A person invests money at simple interest rates of 10%, 12% and 15% per
annum for 6 years, 10 years and 12 years respectively. If each scheme gives
equal interest after 3 years, what will be the ratio of the principal amounts?

T Al 6 T, 10 T 3R 12 F1e & g shAen: 10 wfaerd, 12 ufaerd 3R 15
gfcrerd ufd aef b TTIRoT s &2 O T ST St 81 Al U I 3 a6t &
TS qHH & d &, 1 ol 1T BT 34T 9T &8T2
A.2:3:4
B. 3:4:6
C.4:6:2
D. 6:3:2
30 20 people went to a hotel for a joint dinner party, 12 of them spent Rs 175 on

their respective meals and the rest spent Rs 75 more than the average
expenditure of all 20. What was the total money spent by them?

20 T T TG RIS & felT T Blee T, 379 § 12 7 379-370 HISH W 175
U T T 3R 1T ¥ Tt 20 & 3718d T & 75 T4 3119 T Q| 376 &R
e T TG @ foparm T o2

A. 3750 rupees &)
B. 4500 rupees &)
C. 6250 rupees 0]
D. 5000 rupees t2p))
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31 The salaries of A, B and C are in the ratio 1:2:3 respectively. If the total salary
of B and C is X 12000, then by what percent the salary of C is more than that
of A?
A, B 3R C & Ia7 AT 1:2:3 F JUTd H €| A B 3R C T HeT Iad 12000 &,
AT C &1 a7 A B g1 | faa ufaerd ifers 22
A. 100%
B. 200%
C. 300%
D. 600%

32 Deepak's present age is thrice the age of his son. After 5 years, their estimated
age will be 34:13 respectively. What is Deepak's present age?
U B TATH Y I T BN G T @ T[T 21 5 T &b 971G, IThT AT
3T THIET: 34:13 I | SO 1 qdqH 371G HIT 22
A. 63 years (HTc)
B. 68 years (HTeT)
C. 58 years (9Tc)
D. 60 years (HTc)

33 A dairy farmer has 6 liters of milk in his box. His wife adds some water

to it in such a way that the ratio of milk and water is 4 : 1. How many
liters of milk should the farmer add so that the ratio of milk and water is
5:1?

U 35l fpaH & e & 6 &iX g BHaT €1 3T Uil 07 $® UMl 30 @
AT 2 o6 g 3R U1 &7 3TIUTd 4:1 € ST 21 fopam & fopat ofiex gur e
TTfex dTfes g4 3R U1 T 3714 5:1 &2

A. 15

B.1.2

C. 1.0
D.1.8
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34

Deepak, going from his home to his school at a speed of 3 km per hour,
reaches 5 minutes late. If he walks at a speed of 4 km per hour, he reaches
school 5 minutes before time. What is the distance of the school from his
house?

e, A0 TR 707 Whed 3 fept i w2 B fy F 9 T 2, 5 fHEe ) | ugEdn
21 3% 9% 4 fert ufd 52 &1 7fa § I@dn &, 91 98 999 § 5 592 deel &bl ugd
ST 8| 35 =X Y WA Bl gl fobeT 82

A. 1 km (f Hh)

B. 2 km (f& Hh)

C. 3 km (T H)

D. 4 km (f% H1)

35

Two trains are going from Bangalore to Chennai at the speed of 80 km/hr and
100 km/hr. If the slower train starts 1 hour earlier, the time taken by the second
train to catch the first train will be:

TR T A1 & Torw 31 3 80 fopi/Eer 3 100 fdi/ee & fg & s @ 8| 3
HYHY 7T arelt 27 | 52 Uget 316 el 7, a1 QU o BRI UBdl! o¢F &l Udbed H o'
T 9T BITT:

A. 6 hours (‘El%)
B. 5 hours (Efé)
C. 4 hours (‘él%)
D. 8 hours (‘Ei%)

36

What does "GUI" stand for in computing?
FTH "GUI" BT 1 37 82
A. General User Interface ~ B. Graphical User Interface

C. General Utility Interface D. Graphical Utility Interface
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37

What is the main function of a firewall in a computer network?
A. To speed up network traffic

B. To protect against unauthorized access

C. To increase storage capacity

D. To provide backup services

HRR Feads | HRRAT Bl & HE F1 82

A. 2 ATaraTd B dsil @ & ferg
B. ¥FfEed uga & g9 & faw
C. WSRUT &HdT ggH & feg

D. S&37T HATY T B & feig

Which type of network is typically used within a single building or campus?
3T AR TR Tebet WA AT URER & HidR {5 TR & Aeads &1 IuTT foaT SATdT 22

A. WAN B. MAN
C.LAN D. PAN

39

Which of the following best defines a computer network?

A. A collection of software applications

B. A system for connecting multiple computers to share resources
C. A type of operating system

D. A protocol for internet communication

frfafad & & S 91 Sz A2ad Bl Gad s a8 I TRIISd 6dT 82
A. HTFRZIZR ST BT Th U2

B. HHTEHAT &1 T F & AT 8 g 1 Si1g o fofg Teb worredt

C. T TR BT ATRfT faeeH

D. $&2 HaR & el T Yieiehlel
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40

What does the acronym "HTTPS" stand for?
Hfee AT "HTTPS" T 37f )T 22

A. Hypertext Transfer Protocol Secure

B. Hypertext Transfer Protocol Service

C. Hypertext Transfer Protocol Standard

D. Hypertext Transfer Protocol System

41

Which of the following is used to connect a computer to a network?
A. Hard Drive B. Network Interface Card

C.CPU D. Keyboard

FrfafEa & & g Sugi =R B Teadh g e & fag faar Jmare?

A.TE grsq
B. A2 $X%Y BT

C. gy
D. ®iEE

42

Which of the following is a type of software?
A. Processor B. Printer

C. Operating System D. Hard Drive
Frefeif@a & P 1 Ue TR BT IR 22

A. TR
B. fix
C. 3foRfeT fowy

D.eE g1eq
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43

Mona Agarwal recently won a bronze medal in which event at the 2024 Paris
Paralympics?

A. Table Tennis

B. Boxing

C. Shooting

D. Wrestling

HHT 3TUATeT 7 BT &1 § 2024 & Uiy dufaives & fovg vyt § wiey ggs iam
A. T T

44

Which state government recently approved a ‘New Digital Policy’ to regulate
content, encourage influencers, and promote government initiatives?

A. Bihar

B. Haryana

C. Uttar Pradesh

D. Odisha

TopH 5T WBR 7 21 & ° arlt &l fafafia &0, et @il & wieded
B IR TBH Tedl| Bl FgraT 7 & forg =2 fefSee ifer & doglr & 20

A. Teer

B. Ef@mom

C. WU

D. 3fifgem

45

Which state government launched Trinetra app 2.0 to revolutionize crime
prevention?

A. Rajasthan

B. Uttarakhand

C. Uttar Pradesh

D. Madhya Pradesh

e T TRBR 7 3T BT ApAT H wifd A b A R 99 2.0 & feam

A. TSI
B. W@
C. SRUSIT
D. FeT U
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46

Which crop is sown with the commencement of Monsoon?
A. Rabi Crop
B. Kharif Crop
C. Cash Crop
D. None of these

WA BT YT & 1 B € BHe 918 STl 82

A. W BEA

B. GR®% ®Hd
C. Tl B
D. T 3 B8 T8l

47

Newton’s third law of motion applies to which of these forces?
A. Gravitational
B. Electric
C. Magnetic
D. All of the Above

A BT T BT A 37 79 § febd o AT BT 82

48

Which queen of Jahangir was given the title of Padshah Begum ?

A. Nur Jahan

B. Jagat Gosai

C. Shah Begum

D. Khas Mahal Begum

SRR <l febg Tt Bl aTeeTe ST Bl ISuTfer &Y 7 et

A. TRl

B. A TS
C. SE ™

D. @H 9&el ITH
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49

Which UT has become the first Union Territory to implement PM
Vishwakarma Yojana?

Ladakh

Jammu & Kashmir

Andaman & Nicobar

Chandigarh

B AT B AT USST TIHHAT fIYHHT FISHT BT AT H8 ITeAT TgeT dbgs SN
TN AT 82

Cowp

A. dEE

B. TR 3{R HHR

C. 3EAH 3R PR
D. 98I

50

Which institution has recently launched a cyber commandos training for
police?

A. IIT Bombay

B. IIT Kanpur

C. IIT Roorkee

D. IIT Madras

fopg H&I 3 21 81 1 gfcid & foie arser wwieh ufereror 3G fosar €2

IIT STeT

IIT BEYT
IIT &ShT

IIT HsTE

o0 wp
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